Key Stage 2: Year 5: Multiplying proper fractions and mixed numbers w
by whole numbers

2 _ 3 _

1. 45x2-= 16. 5-5x8
2. bxbo = 17. 5x3— =
1 1,
3. 7x2-- 18. 94 x4-=
4 T4 x2-= 19. 22 x5-=
5. 5x4—4-= 20. 7x14=

1 1

6. Q9 -x2= 21. 4--x35=
7. 22x3-= 22. 12x 15 =
8 4x5->= 23. 65 x7=
9. 84 x3-= 2. 8x2-—=

. . , 1
5 A

10. 5x4->-= 25. 19x 1
11. 35-x5- 26. 52 x3-
12. 44 x6= 27. 73 x4-=
13. 3x85 = 28. 8x21 -
14, 44 x3= 29, qx1%=
15. 7x3-%= 30. 3-Lx2-=
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Key Stage 2: Year 5: Multiplying proper fractions and mixed numbers w
by whole numbers

5 5. a1

31. 82 x5-= 46. 11x10-5=
32. 3x72- 47. 3x19-=
’ 3 ’ 2
33, 19-—x3= 48. 8x3-==
’ 2 ’ 12
34, 12-5-x5= 49. 5x9->=
11 1

35. 7x31—= 50. 8x107=
7 _ A _

36. 8x4s- 51. 2-5x9-=
37. 94 x5-= 52. bx4—= =
38. 5x13—-= 53. Qx b=
. X 4 = . X 2 =

39 12x6%= 54, 18%x3=
40. 4x7%= 55, 13x2%=
5 _ a _

41, 72-x3= 56. 10 x 4=
42. 4%xq= 57. 7%x12=
43. 12x6%= 58. Q%X6=
44. 317 x3= 59. 32 x8=
S _ 1

45. 7 x4-2= 60. bx7-+=
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Name: Date:

Multiplying proper fractions and mixed numbers by whole numbers

1 | 5L x2-
2 6x3%=
3 | 7x54=
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Answer Sheet: Key Stage 2: Year 5: Content Practice Questions

ar

Number: Fractions: Children will multiply proper fractions and mixed numbers by whole

numbers
question answer marks
1 9+
2 39
3 153
4 142
5 22
6 18-
7 84
8 23
9 243
10 24
1l 175
12 25 -
13 25 -
14 142>
15 252
16 2%
17 15>
18 36
19 13—+
20 10--
21 21—
22 16

question answer marks
23 a5 1
24 7 1
25 253 1
26 16—+ 1
27 31 1
28 183 1
29 16—+ 1
30 73 1
31 43— 1
32 23 1
33 58— 1
34 63> 1
35 27> 1
36 37+ 1
37 a5 1
38 66— 1
39 76 1
40 3 1
41 221 1
42 38— 1
43 82 1
44 n- 1
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Answer Sheet: Key Stage 2: Year 5: Content Practice Questions w

Number: Fractions: Children will multiply proper fractions and mixed numbers by whole

numbers
Worksheet answers
question answer marks question answer marks

45 33> 1 1 n-=- 1
46 m-x 1 2 20 1
47 58 1 3 36> 1
48 242 1 4 26— 1
49 48> 1 5 9+ 1
50 84 1 6 20— 1
51 243 1 Total 6
52 28 1

53 58— 1

54 55 1

55 362> 1

56 49 1

57 90 1

58 58 —- 1

59 31 1

60 431 1

Total 60
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